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3 3"'1 Vechors and Scalars 2

- As we menkioned in Chapher 2 thak Velociky
has o magni’rucle as well as ditechon 4 any
quankity suchas Velocity is a veckor .
eq : Displagmenl-, Acceleration

Force and weighk ...
Quanklies with no diteckion afe colled SCalar.
ea: Nishunce, sPecd, mass 4k emperture

and Pressule +..

We (ePfesen 5 each Vectar \m, an afrow,
to Point in the difeckion . The lenaﬂa of e

affow (eRfecents the vecksrs mayni tude.,

How do we wrilte the symbo) Bor & veckor?
[a] We use boldface kype .(especially in beo k)
_‘E_' oY bl[ dfawlhs el l-'nlf aWow avefr ik,

Iﬁ we afe anlq mHus\-eé ‘n the matdhiludt 3"
@] We wate ¥ in ikalies , (espeeatly inboolk)

B or = |

E nample . ('\-
A Porce oe- mq3ﬁ1\~ude 20 A acl's oh qn GHS

Q lor:j ch pos'.Hue x—éf{ec\-san.ﬂcPTcIN‘ il
E MR o2 Hhe alrow

& (ePlesenls divecitow -

Lenath £ Yraiglt fine

IF1-=2
Yesplgufs maeguibude . Al

Cha-P Fer 3

3 = 2 Adsikion o Uechors - Graphicel Methods 3

We can use S:mfiﬂe Qﬁlhme\w'c ?ar qdd'.nj
vectors buk we musl- bake hoth mayimhude
and) direehon inte account shuk i+ camns -

be wged i€ Yhe Ueckars ate nok alm% the sam ¢
\ine.. However, Hrese stepls can helpus o
imagine the Situakion 3-

[ Draw the Rrsl-veckor.

Ei Place the kil of lhe setnd) vechsr
on the HR of the Lrst vecksr.

El The (esultanl- vectar stacks Com the

hai) o Hhe Ciest ueckor and ends on the
P oR the second vechor.

(ﬂ\is method is called lhe Hiqhdu!ur me\wd

chcmsc Hnr: %g Uec\-ors Corm A Hian&\c.\

or( bail -Fo -HQ method of addingy veckors
(see the nex)- page For examples)

*Noke :- The fesullanl is nol- «PRected by the
order in which the vech (s afe addes).
(Mathemakically is@lled the Commylabive Disperty

of> vechsr addikion)., upplics in 2 of mofe veckars.
[A+7 -R+R)

{QMQx - A+-B] When 2 vechf's afe pafalle! ((D' O‘

]
A = 4 &
|~ j = * L] : + =

——————. 4S5 Ao
* [Qu‘m =|A "Bﬂ When 2 vechsfs afe oAk para lie ! (E:JS?)

A ——— e _‘.b I "? -

!., -

__§.|Q='-|-|
6

nner = Wgd d>guwaall
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Example (0 (ol ho P mebhod ) j o
TEIAN:z10 , |Bl =% . Fnd Rl in- | lhichone o (A,B) fepresents a 2eio deckor P
D\ ﬁmq __,____)___;T_, : %% % Nokes- Disknces are NOT o scdle .
f
G=0 e 3
IRl = {O0+F=1F
Both in Yhe same divechm.
AR)
2) lﬁn.nl :L@__ﬂi.)
‘.——
92130° __’}G[:
\m Wo-7 =173
OPPDSike  Jitections. (3\
E— ( he Feianauler method)
EnamPle (2) ( the commutalive law)
T -(: =4m ,y* : _§: im, ﬁ"' Sel. (ﬂ) bmusc;hotsil-qu-l&pml is the fntslunJ
B —_—t " '
Fing 4 (AR B) IR« P}L Ry drawina Ueckor [Diagiams , We cun exPiess

CQC\Q Veckon !:L; canpanenh,( Chtl@\‘w '3"-”
will discus it in debalss Which explain howi~

T— This Y compment- cance!
\ 4
F'mﬂp e ('33 oul Lyt the ovebelow

TRIAl=6 , \Bl=20, then Bud the

masnibude of the fesulbant (wWhith ene t3 ll o " i 3

a Possible value \vo\Rl)_P —— ' 4
..--- "> =
@y 3 ) 17 Mase % camponents
) the. fesulbadt will eqyed
by 28 ©®) 30 Fo (4L42)
§g| -(C) \_BF‘B_.&—. !S.-.-R--—» SA‘TG - u‘*'—h—.—-ﬂﬁ_—,*
4 <R < 24 Rl=0
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